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THE VICE-CHAIRMAN (SHRI 

TRILOKI NATH CHATURVEDI): The 

House is now adjourned for lunch. It will 

reassemble at 2.05 P.M. to discuss the Motion 

of Thanks on the President's Address. 

The Hosuse adjourned for lunch 

at five minutes past one of the 

clock. 

The House reassembled after lunch at nine 

minutes past two of the clock 

THE VICE CHAIRMAN (SHRI 

TRILOKI NATH CHATURVEDI) in the 

Chair. 

MOTION OF THANKS ON THE 

PRESIDENT'S ADDRESS—Contd. 
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SHRI SOLIPETA RAMACHANDRA 

REDDY (Andhra Pradesh) : Mr. Vice-

Chairman, thank you very much for giving 

me this opportunity. I second the Motion of 

Thanks which was just now moved by our 

hon. colleague, Shrimati Kamla Sinha. 
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changed. It is good. But I am sorry to say that 
the character of the system has not changed to 
the extent it should. The character of the 
system should also change so that the country 
can go ahead with its developmental 
activities. 
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THE VICE-CHAIRMAN (SHRI TRILOKI 

NATH CHATURVETJI): There are a number 

of amendments to this motion which may now 

be moved. Amendment numbers 1 to 23, Shri 

Ram Jethmalani. He is not present. 

Amendment numbers 24 to 64, Shri 

Govindram Miri. 

SHRI GOVINDRAM MIRI: Sir, I beg to 

move: 

24. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 
mention about any Govemment scheme to 
set up new industries in District Unnao, 
Uttar Pradesh." 

25. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about any scheme for closure of 

Bone Mills and other Polluting Industries 

in Unnao District of Uttar Pradesh." 

26. That at the end of the Motion, the 
following be added, namely:— 

"but regret that the Address does not 

mention about formation of a popular 

government in Uttar Pradesh." 

27. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about any action plan for improving 

the continuously deteriorating law and order 

situation in North-Eastern regions of the 

country." 

28. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about non-bifurcation of 

jurisdication of Bilaspur Railway Division, 

which is the maximum revenue earning 

Division of Railway in the country and 

formation of a new Railway Zone at 

Bilaspur." 

29. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about the ban on cow slaughter." 

30. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about any policy to curb the 

increasing unemployment." 

31. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about bringing the Posts of Prime 

Minister and other high level Posts under 

Lok Pal Bill." 

32. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about any efforts to get freed the 

Pak-occupied Kashmir." 

33. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about abolition of criminahsation in 

Politics." 

34. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about any concreate Programme 

for checking rising terrorists and disruptive 

activities in the north east region of the 

country." 

35. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about any funding by Government 

to check use of black moeny for election 

expenses." 

36. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about formation of a separate 
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Chhatisgarh state in deferrence to a 

Resolution unanimously passed by 

Madhya Pradesh Vidan Sabha." 

37. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about any special scheme to 

contain the prices of sugar and other 

edible 
items." 

38. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about apprehending the 

persons found guilty in the Bofors gun 

scandal and repatriating them to India." 

39. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about taking any steps for 

improving continuously deteriorating law 

and order situation in Uttar Pradesh and 

Bihar." 

40. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about any steps proposed to 

be taken to mitigate the difficulties being 

faced by the sugarcane growers from the 

sugar mills." 

41. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the formation of a 

separate Uttaranchal state comprising eight 

hill districts of Uttar Pradesh." 

42. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about early clearance of the 

pending projects of Uttar Pradesh and 

Bihar." 

43. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about increasing the 

remuneration of agricultural labourers." 

44. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 
the Address about formation of a separate 
bench of Madhya Pradesh High Court in 
the Chhatisgarh region of Madhya 
Pradesh." 

45. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the measures 

Govemment intend to take to contain the 

ever increasing prices' of essential 

commodities." 

46. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address as to how Govemment 

propose to check the fast deteriorating law 

and order situation in Uttar Pradesh which 

has resulted in spate of cases of murder, 

abduction, molestation, caste war and 

alround breakdown of machinery 

responsible for maintaining normal 

conditions in the State." 

47. That at the end of the Motion, the 

following be added, namely;— 

"but regret that there is no mention in 

the Address about the steps Govemment 

proposes to take to handle the situation 

arising out of the acute famine/drought 

conditions prevailing in certain parts of 

Orissa" resulting in a number of deaths due 

to hunger and driving a large number of 

people to mortgage their children out of 

compulsion as the State Govemment has 

not risen to the Occasion." 

48. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Addressed about the steps being taken 

by Govemment to contain the increasing 

militancy/insurgency in North-eastern 

States of the country, particularly in 

Tripura and Manipur." 

49. That at the end of the Motion, the 

following be added, namely:- 

"biit regret that there is no mention in 

the Address about the unrest in West 

Bengal after the signing of Ganga Water 

treaty With 
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Bangladesh and the safe guards taken by 

Govemment to meet the situation arising 

out of likely shortage of water that may 

affect the State." 

50. That at the end of the Motion, the 

following be added, namely.— 

"but regret that there is no mention in 

Address about the tardy and unsatisfactory 

progress made in the Bofors case even 

after receipt of requisite bank documents 

from Swiss authorities and the action 

Govemment propose to take to the 

satisfaction of the public at large and 

punish the culprits." 

51. That at the end of the Motion, the 

following be added, namely:— 

"but regret that the Address does not 

mention about the ever increasing 

corruption involving high-ups in the 

country and the investigative agencies 

trying to hush up or to delay the cases." 

52. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about Government's failure on 

the food front that resulted in the import of 

large quantity of food grains from abroad." 

53. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address regarding the decline in 

industrial growth rate and rising 

unemployment." 

54. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the delay in the 

implementation of the Report of the Fifth 

Pay Commission to the satisfaction of all 

concerned." 

55. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the steps Govemment 

propose to take to reduce the disparity 

between different income groups." 

56. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the malpractices in the 

P.D.S. which result in rise in prices of food 

grains and sugar causing hardship to the 

poor and steps Govemment propose to take 

to remedy the situation." 

57. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address that despite tall claims by 

Govemment about self-sufficiency in food 

grains, Govemment had to resort to import 

of wheat and sugar and the steps proposed 

to be taken to remedy the situation." 

58. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

Address about the failure of the 

Govemment to check air violations at will 

by a neighbouring country hostile to India 

and how Govemment propose to plug the 

loop holes in air defence." 

59. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about measures taken by 

Govemment to liquidate hideouts of I.S.I, 

of Pakistan in different parts of the 

country." 

60. That at the end of the Motion, the 
following be added, namely:— 

"but regret that there is no mention in 

the Address about the depleting naval 

defence of the country and the measures 

Govemment propose to take to augment 

the naval fleet/forces." 

61. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the formation of a 

separate State of Uttrakhand as promised 

by the Govemment from time to time." 

62. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the address about the steps to be taken to 

decongest the Capital city of Delhi so as to 

make it liveable." 
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63. That at the end of the Motion, the 
following be added, namely:— 

"but regret that there is no mention in 

the Address that despite tall claims by 

Govemment there has been slump in 

growth rate of industry in the country, 

particularly in fertilizer, copper, cloth, jute 

and crude petroleum and how Govemment 

propose to boost the industrial growth." 

64. That at the end of the Motion, the 

following be added, namely:— 

"but regret that there is no mention in 

the Address about the apprehended 

declaration in growth rate of mining and 

electricity sectors which may hit future 

industrial growth and how Govemment 

propose to remedy the situation." 

THE VICE-CHAIRMAN (SHRI 

TRILOKI NATH CHATURVEDI): 

Amendment numbers 65 to 69. Shrimati Malti 

Sharma. 
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The questions were proposed. 

THE VICE-CHAIRMAN (SHRI 

TRILOKI NATH CHATURVEDI): 

Amendment numbers 70 to 71. Shri Narain 

Prasad Gupta; not present. Amendment 

numbers 72 to 94; Shri Ramdas Agarwal; not 

present. Amendment numbers 95 to 100; Shri 

V. Narayanasamy; not present. Amendment 

numbers 101 to 125. Shri R. Margabandu; not 

present. Amendment number 126. Shri K.R. 

Malkani; not present. Amendment numbers 

127 to 154. Shri Raghayji; not present. 

Now, Prof. Vijay Kumar Malhotra to 
speak. 
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THE VICE-CHAIRMAN (SHRI G. 

SWAMINATHAN): The next speaker is Shri 

Pranab Mukheijse. Before he commences his 

speech, I would like to inform the House that 

the hon. Prime Minister is expected to make a 

statement regarding the fire at Baripada in 

Orissa at about 4.15 p.m. You may start your 

speech, but when he comes.... 

SHRI PRANAB MUKHERJEE (West 

Bengal): Yes, when he comes, I will sit down 

and he can make his statement. There is no 

problem. 

Mr. Vice-Chairman, Sir, the President's 

address at the beginning of the Session of the 

Parliament indicates the policies of the 

Govemment and also the programmes, which 

the Govemment of the day wants to pursue. 

Sir, if you glance through the text of the 

Address delivered by the hon. President to the 

Joint Session of the Parliament, you will find 

that he has discussed in a little detail the state 

of the economy. In paragraph 11 to paragraph 

28, he has dealt with economic issues. In 

paragraph 37 to 49, he has dealt with the 

foreign policy of the Govemment. In the later 

part of his Address he has also indicated the 

proposed legislations, which the Members of 

Parliament are to enact during the current 

session. This document constitutionally is 

prepared by the Cabinet and it reflects the 

policies of the Govemment. Therefore, the 

President has no individual role or initiative in 

it. 

First, I would like to deal with the 

economic aspects of the Address, where the 

President has indicated the Government's 

policies in certain broad categories like the 

Plan, foreign investments, infrastructures and 

certain other related issues. 

It is true the full Plan document is not 

available to us, but the Approach Paper is 

available to us. The Approach Paper was 

approved by the NDC on 16th January, 1997 

and I do not mind if the President is wrongly 

advised in suggesting that the Planning 

Commission completed the Approach 

document in a record time. The Planning 

Commission was constituted sometime in July 

and it submitted the Approach Paper to the 

NDC on 16th of January, which approved it. It 

was not in a record time. Almost every Plan 

Approach document has been finalised in six 

to seven months and they have also taken six 

to seven months. That is not a record time. 

But, that is just a minor point. The point is that 

certain basic issues, which have been raised in 

the Approach document, are debatable. The 

total investment outlay, as per the Approach 

Paper, during the Ninth Plan, would be Rs. 

21,90,000 crores at the 1995-96 price level. 
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In terms of percentage, it would be 28.6 

per cent of the GDP. The moot question is 

wherefrom these resources would come. The 

Planning Commission in its Approach Paper 

has indicated that 28.6 per cent. The 

investment would come from the internal 

sources, to the extent of 26.2 per cent and 

external sources 2.4 per cent of the GDP. I 

have some serious doubts about the viability 

of the system and particularly the way the 

Govemment is going to assume 26.2 per cent 

domestic savings. There are three components 

of the basket of savings the household sector 

is 18.9 per cent, the Govemment sector which 

is a dissaver is minus 1 per cent and the public 

sector is 3.8 per cent, the private corporate 

sector is 4.5 per cent. Now, let us take the case 

of the Govemment sector. During the Eighth 

Plan, the dissavings of the Govemment sector 

were minus 1.9 per cent. The Planning 

Commission is expecting that the 

Government's dissavings would be minus 1 

per cent of the GDP. That expectation has also 

been reflected in the Economic Survey. But 

what is the trend? Only yesterday we have 

increased the subsidy. I would not like to go 

into the merit of that. Let us not go into the 

merit of that issue. But the hard cold fact is 

that yesterday by one decision Govt, has 

increased the subsidy to the extent of Rs. 

2,400 crores. Today, in reply to a question the 

Finance Minister indicated that the excise 

duties for the first ten months would be Rs. 

36,000 crores. Sir, I have some experience in 

dealing with the Ministry of Finance. For 

almost eight years I spent my time as Minister 

in the Department of Revenue, Ministry of 

Finance at different stages. There is a formula 

of computing the excise duty. It is correlated 

with the industrial growth, particularly with 

the manufacturing sectors. The normal 

computation is that, if there be 1 per cent 

growth in the industrial production, there 

would be 0.8 per cent growth in the excise 

revenue. All the calculations in the Budget last 

June was on the basis of 12 to 14 per cent 

industrial growth. The excise growth duty was 

computed at 14 per cent. That is why it was 

fixed at a figure of Rs. 46889 crores. Now, we 

are told that in the first ten months it would be 

Rs. 36,000 crores. I am afraid by any stretch 

of imagination we cannot expect that excise 

duty would reach the figure of Rs. 46/47 

thousand crores. I am giving only these two 

figures to 

indicate that on the one side the Government's 

expenditure is increasing and on the other 

side, the Government's own resources are 

coming down. 

Now, let us go back to the global figure for 

the current year. The total Govemment 

receipts, tax and non-tax receipts... 

(Interruptions)... Mr. Vice-Chairman, may I 

haveyour attention? 

THE VICE-CHAIRMAN (SHRI G. 

SWAMINATHAN): Yes. Please go ahead. 

SHRI PRANAB MUKHERJEE : The total 

Govemment receipts, tax and non-tax receipts, 

gross receipts, including tax and non-tax 

revenue was Rs. 1,32,000 crores for the year 

1996-97. The interest repayment was Rs. 

62,266 crores. The principal repayment was 

Rs. 66,000 crores. Therefore, the 

Government's debt liability in one year is Rs. 

1,28,000 crores against the Government's own 

resources, including tax and non-tax, of Rs. 

1,32,000 crores. 

In other words, if the Govemment of India 

decided to discharge its total responsibility, 

debt responsibility, then for 36S days, it was 

left with Rs. 4000 crores whereas the 

expenditure of the Govemment of India 

everyday is more than 560 crores. Therefore, 

in that situation, you have to decide whether 

the Govemment would be able to contribute 

and consign its negative contribution to the 

savings basket by minus one per cent of the 

GDP for the next five years. I am not talking 

on any hypothetical basis. I am talking on the 

basis of the way things are moving. This is 

one area Of course, we will get an opportunity 

when the Budget will be presented and final 

Plan documents or even the Approach Paper 

will be discussed. 

We want a seven per cent growth rate; by 

all means. We want a 8-9 per cent growth. If 

we want to eradicate poverty, if we want to 

eradicate illiteracy, if we want to create a job 

for everybody, we have to double our national 

income. There is no denial of that fact. But the 

question is whether we have the capacity. The 

President, in his Address, has indicated—and 

it has been pointed out in the Common 

Minimum Programme—that we should get 10 

billion U.S. dollars, we should prepare 

ourselves to build up the infrastructure and the 

country should be in a position to receive an 

average of 10 billion dollars of Foreign Direct 
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Investment from abroad. Very well. If we 

could get 15 billion dollars, I would have 

been happier. But what is the ground reality, 

Mr. Vice-Chairman? 

From the World Investment Report of 

1996, we find the total amount of investible 

resources available for the year 1996 was 315 

billion US dollars. I made a very simple 

calculation. The total Foreign Direct 

Investment for the year 1996 was 315 billion 

US dollars; 64.5 per cent of this money was 

invested in the G-10 countries—earlier they 

were called the G-7 countries—the 

industrialised countries. We do not come 

within that. That means an amount of 205 

billion US dollars was for the industrialised 

countries. We weie left with 110 billion US 

dollars out of the 315 billion US dollars. 

Then, 31.66 per cent was for the developing 

countries. In absolute terms, it is roughly 96 

billion US dollars. But there is a catch. Of 

these 96 billion US dollars, 73 per cent was 

directed towards China and 'Asian Tigers'. 

Therefore, for the rest of the whole world, 

including us will be left with 38 billion US 

dollars. I am not talking of desirability. I am 

not talking of the merit. I am not talking of the 

requirement. I am talking of the possibility 

because we have to make plans. We cannot 

make our plans on some unrealistic 

assumptions. I am talking of the ground 

reality. Are we going to have 10 billion US 

dollars? We are talking of the infrastructure. 

Very correctly, the President has drawn our 

attention to the fact that we must provide the 

necessary infrastructure. 

There is no denial of the fact that during 

the Eighth Plan, we were far short of the 

target power generation because we did not 

have the money. First, the target was 36,000 

megawatts. Then it was reduced to 28,000 

megawatts. But we were not able to add more 

than 18,000 megawatts. Now, if we want to 

avert that type of power crisis, then two 

assumptions have been made by the experts. 

At the level of 63 per cent plant load factor, 

the additional capacity generation requirement 

would be about 46,000 megawatts. And these 

are, most of them are, already approved and 

14,000 megawatts are approved in the private 

sector by the CEA. The States, the Centre and 

the Union Territories, taken together, would 

have to generate roughly 

32,000 megawatts. What are the costs? If I 

assume that Rs. 5 crores per megawatt is the 

cost, then financial requirement is Rs. 160,000 

crores and an additional Rs. 70,000 crores 

could be required for the private sector. Taken 

together, it would be Rs. 2,30,000 crores for 

the next five years. 

From where will these resources come? 

The resources are surely not going to be 

generated either by words or by intentions or 

by pious hopes. These are to be generated by 

hard decisions. The President's Address 

should be an indication of the Government's 

decisions, programmes and determination, 

and not an essay, not a collection of the 

comments or views. 

In paragraph 18 of the President's Address, 

an indication has been given about the Oil 

Pool Account. All of us know that by the end 

of the year, on 31st March, 1997, the deficit in 

the Oil Pool Account is going to be Rs. 

15,500 crores. What is the point of sharing 

this information with the country? The 

Govemment of the day should have come out 

with a programme as to what they are going to 

do. You cannot run away by saying that in our 

system, first everybody will request you to 

increase the price and then you will do it. It is 

not possible. The Govemment will have to 

take a decision or they will have to say: "No, 

we are not going to do it." We have got three 

signals from very senior representatives of the 

Govemment. One signal is that they are going 

to bridge this gap by borrowings. Another 

signal is that, "No, we have to enhance the 

price." And on the enhancement of the price, 

there are different signals. There may be 

differences. There may be opposition. But it is 

incumbent on the Govemment of the day to 

decide because they are to ran the 

Govemment, not the Opposition. They are to 

run the Govemment. I know when I signed the 

World Trade Agreement, what type of 

opposition I had to face from this House. But I 

had to do it, however unpopular the decision 

was, because the Govemment of the day 

thought that it was to be done according to 

their judgment and the people might not agree 

with their judgment They might disagree with 

their views. But the decision was to be taken. 

Even today, I stand by that though this House 

had rejected that. If we want to avoid a very 

serious crisis in the World Trade Organisation 
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and the international trade, we must pass the 

amendment of patent laws which we 

introudced, which was passed in Lok Sabha 

but which was rejected by Rajya Sabha, The 

sword of damocles is hanging on our head. 

But We cannot keep it under carpet any 

longer. The United States of America has 

lodged a formal complaint and the two 

months' period of consultation was over. The 

Disputes Settlement Mechanism is in motion. 

The European Union has become a co-

complainant. What is the implication of all 

this? The implication of it is that if they take a 

retaliatory measure, it is going to affect 49 per 

cent of our export. Yesterday, the Commerce 

Minister was informing us that our export 

should not go beyond 35 billion dollars export 

growth has declined. Dr. Alag is present here. 

The Planning Commission has projected that 

in this Plan, we would like to have external 

support to the extent of 2.4 percent of the 

G.D.P., against 1.6 per cent during the 8th 

plan I was a bit conservative I did not think 

that we should go beyond 1.6 per cent of 

G.I.P., in absolute terms, 22 billion U.S. 

dollars at the price level of 1991. Of course, 

the Plan size was much shorter. But there is a 

necessity for remaining alert on BOP. Are we 

going to invite another type of a serious BOP 

problem because 19 billion dollars reserves 

are there? If we look at the nature of this type 

of resources we found they are not enough. 

Therefore, certain hard decisions are to be 

taken, and I am afraid, Sir, the President's 

Address does not reflect those hard decisions. 

I do not know whether at the time of Budget 

or at the time of replying to the debate, the 

Prime Minister would indicate these things. 

These are some of the issues on economic 

matters which I thought I should bring, 

through you, to the notice of the Govemment. 

I would like to comment on another aspect. 

In paragraph 7 of the President's Address, 

while speaking on the responsive and 

responsible Government, a sentence has been 

added. To increase transparency and 

accountability in administration at all levels, 

the Govemment has initiated a national debate 

on effective and responsive administration." 

Very well. We want an effective and 

responsive administration. How do we have 

an effective and responsive administration? 

What are the major problems in our 

electoral system today? Mr. Malhotra was 

pointing out one type of distortions; that is, in 

some constituencies the numerical strength of 

the electorate huge; particularly in Delhi, there 

is one constituency which is having a huge 

electorate; I do not know whether it is 30 lakhs 

or so, but a huge electorate is there, and in 

another constituency it is less. But these are 

normal exceptions. In the last elections the 

total number of voters was 640 million. The 

numerical strength of the elected members for 

the 1 lth Lok Sabha was 543 million. 

Therefore, the average comes to about 1.2 

million or 12 lakhs. Mr. Vice-Chairman, all of 

us are political activists. If one has to write a 

letter or a postcard to 12 lakh voters, how 

much would it cost, apart from the postage, 

stamping costs? After all, I cannot write 12 

lakh letters. I will have to get them printed. So, 

printing costs are also there. If you simply take 

one item, the question that remains to be seen 

is how you are going to adjust it? 

Delimitation? If we increase the strength, — 

yes, we can raise it from 540 to 1,080 — there 

is no harm. But can we have an effective 

deliberation in any system with 1,080 

members participating in it? Sometimes, we 

find that even for 540 or 240, the time is not 

enough or adequate. Should we think of 

adding something more to that? And here 

comes a question, if we want to really have an 

effective, meaningful debate at a national 

level—at some point of time I do feel that 

there should be a debate — whether the 

system which we are now having, the system 

which was formulated 50 years ago—our 

Constituent Assembly started functioning in 

1946 and completed their job in 1949 and a 

new Constitution came into existence on 26th 

January, 1950; what was the total population 

then? It was 350 million; that was the total 

population in 1950. Is it possible for a system 

or an instrument, which was expected to cater 

to the needs of 350 or 400 or 500 million 

people, to cater to the needs of almost double 

that number, and which is also going to be 

much more? Even if we assume the targeted 

growth of the population as 14 per thousand, 

the gross population growth which is very 

ideal—presently it is 22 per thousand— even 

if we assume the targeted ideal growth rate, 

even then, in the next 20 or 30 years there 

would be a population explosion. Every year, 
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we are adding one Australia to our total 

population. Therefore, in this situation, 

perhaps it requires a much more serious 

thinking. Can we talk of a more powerful 

Gram Sabha than the Lok Sabha? We have 

come a long distance from this concept. 

Whatever institutional changes we have 

brought in, we have to assess whether we can 

make them more effective. Take the case of 

Panchayati Raj or Nagar Palikas. We have 

now amended the Constitution. We have 

introduced it. How do we make it effective? 

Perhaps, we could make it effective if 

Constitutionally we ensure that laws are not 

left to be made by the States themselves. 

At some point of time, this House itself 
rejected the amending laws and I don't think 
that the Govemment should come out with 
any half-baked proposals or should try to 
impose something. But let there be a debate 
on whether we could convert India's 5,000 
administrative blocks into block parliaments; 
whether we can think of having block 
republics and transferring the entire 
developmental works, including civil, judicial 
and local administration and education to 
them. Of course, it will call for making 
structural changes in the Constitution. The 
monumental judgment given by the Supreme 
Court in the Keshavananda Bharati case 
Golaknoth case and all other incidental 
matters will stand in the way of that process. 
But after all, Constitution is a document 
meant for the betterment of the people and if 
that instrument is found ineffective, I don't 
think that there can be any controversy in 
having a rethinking on this and in making the 
changes. I do feel that a serious debate and 
discussion should take place for that purpose. 
Bringing a Lok Pal Bill or having some 
changes in the existing arrangements alone is 
not going to help us much. ...(Interruptions)... 

As I told you, Mr. Vice-Chairman, the Prime 
Minister is expected to make a statement. I am 
not finishing my speech. I will continue my 
speech. After the hon. Prime Minister made 
his statement, I think you would allow me to 
resume my observations. 

(The Deputy Chairman in the Chair) 

STATEMENT BY PRIME MINISTER 

Tragic death of devotees in a fire accident 

at Bariapada in Orissa 

THE PRIME MINISTER (SHRI H.D. 

DEVE GOWDA): Madam Deputy Chairman, 

I 

would like to inform Hon'ble Members about 

my visit to Baripada yesterday, February 24, 

to the site of the ghastly tragedy by fire which 

broke out on February 23, 1997. 

The facts about the incident are as follows: 

About 10,000 devotees had assembled at 

Madhuban in the Baripada Municipality of 

Mayurbhanj District, for a religious gathering 

which began on February 21,1997 and was to 

conclude on February 23. On the February 23 

a devastating fire suddenly broke out at the 

site at 3.15 in the afternoon. It has been 

informed by the State Govemment that the 

fire brigade was immediately pressed into 

service, and while the women's camp-site 

could be protected, the fire spread through the 

men's camp site and 149 persons died on the 

spot. Another 175 persons were injured and 

were admitted to the local hospital and to 

nursing homes. Of the injured persons, 28 

have succumbed to their injuries. 

Immediately after the accident, the local 

administration deployed 43 doctors to attend 

to the injured. Local voluntary organisations, 

businessmen and political workers also joined 

the rescue efforts. A team of medical experts 

and para-medical staff from the Medical 

College, Cuttack have also reached Baripada. 

The process of identification of the 

deceased is on and their relatives and 

acquaintances are coming for identification. 

I would like to inform the Hon'ble 

Members that the Central Govemment is 

going to release rupees 50,000 to the families 

of the deceased and to those persons who 

have been disabled permanently. For others 

who have been injured, the Central 

Government would provide Rs. 25,000. 

The State Govemment has also announced 

financial relief of rupees 25,000 to the next of 

kin of the deceased and rupees 10,000 to each 

of those injured. 

I have also requested the Chief Minister to 

make efforts to have the deceased identified 

precisely so that the assistance being given 

reaches the right persons. Given the difficult 

situation, the local authorities and the State 

Government are making the best possible 

efforts to deal with it. 

I have been informed that the State 

Govemment has instituted an Enquiry into the 


